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=M AUB
M HAPAZH|(ALSED)
Sl J|2dHI(AY ST (S &)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
— ey 8,0003 x 182 +53|x 12 8,640
—JIEtH 8,000 0 +52|« 12 4,320
02 324l 6,000 6,000 0
Oss=gHl 6,000
—RER= 500,000 * 122 6,000
202 04l 12,960 14,640 21,680
01 =LHA I 12,960 14,640 1,680
OJ|2gR+HE=F 0 12,960
—2ey 40,0003~ 182+ 122 8,640
—JIEHA 60,0003 x4 * 128 2,880
—Z2R(LIAY) 22T
40,0002 3~ 123 1,440
203 gR=4| 5,680 5,680
02 H3AJtAHA 2 F&| 1,120 1,120
OFAIN= 40,0003 x28H 1,120
(U A egeches B taSlal 4,560 4,560 0
ORAMEZgR=at]
400,000 * 12 %95% 4,560
FEALSE AHIA WS 6,432,014 7,782,978 A1,350,964
= 2,771,498
Al 1,488,855
- 2,171,661
KSALE] SSHLSEAY 243,744 171,288 72,456
= 121,872
Al 60,936
- 60,936
KSAtE] SEALSTAIG (Y &001Z) 139,802 137,871 1,931
= 69,901
Al 34,951
- 34,950
101 @1A4H| 105,585 106, 181 A5%6
= 52,793
Al 26,397
- 26,39
04 JIZtNZ22 XS24+ 105,585 106, 181 N5%6
OArgors eli| 103,625
— A MEARALY 012 Q124
2,333,400 «2F11& 51,335
= 25,668
Al 12,834
- 12,833
—Iots HAHOHOH)AEA 213 01|
2,011,080« 1&* 132 26,145
= 13,073
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rars==FSin;
FOIHYEE MHIA HZ
NHALS SSAUSTAIY M)
SA - BE - C9(3H) - KA - BES A 2
OMCEREBAIY S 228 79
1,524,000& 1,524
= 762
Al 381
- 381
KISAIS] SEAHAASTIAI (OIHAMICH A=222]) 29,724 29,655 69
= 14,862
Al 7,431
- 7,431
101 Q1244| 25,768 25,555 213
= 12,884
Al 6,442
- 6,442
M II2tH22SE* 25,768 25,555 213
OZAZAHAAIY Q1= 0124H|
2,333,400 1« 11& 25,668
= 12,834
Al 6,417
T 6,417
OAtgeld 225 9
50,0003 *1H+23] 100
= 50
Al 25
- 25
201 2E2 2 3,95 4,100 A144
= 1,978
Al 989
- 989
01 AtS2teltl 3,956 4,100 2144
OGLEHAANSE 22| 1,956,000& 1,956
= 978
Al 489
T 489
O&st S=S=0I1H MY 22|
2,000,000& 2,000
= 1,000
Al 500
T 500
KSALS] SEHLSIAM(HAXY &L HE SEHZ 3,762 3,762 0
2e])
= 1,881
Al 940
- 9
201 2| 3,562 3,562 0




FA ABSL
M ZOIAUSA MHIA R
SH9l: XIALS] SERAUBEALY (crel: g)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 1,781
Al 890
- 891
01 AlR22IH| 2,000 2,000 0
OB 2 Satate 298]
2,000,000 2,000
= 1,000
Al 500
- 500
03 A2 I 1,562 1,562 0
OFAAHE ¢ Sstitd Z20 29|
1,562,000& 1,562
= 781
Al 390
- 391
301 2P EN= 200 200 0
= 100
Al 50
- 50
11 AALAHIXIES 200 200 0
OFAE 208 2
50,0002 432 200
= 100
Al 50
- 50
2ot A9 0 70,456 0 70,456
= 35,228
Al 17,614
- 17,614
101 21AH| 51,435 0 51,435
= 25,717
Al 12,859
- 12,859
04 JIZtNZ22 NS+ 51,435 0 51,435
Ot AN A 2124H|
2,333,400 2F 112 51,335
= 25,667
Al 12,834
- 12,834
Ot &AM MY 225 72
50,0002 x2&H 100
= 50
Al 25
- 25
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SH: AYED
HE: FOIAAST AHIA KIS
el ALME 2H2e (SH9 H2)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
- 50
307 21201 & 68,132 68,132 0
= 34,066
Al 17,033
- 17,033
05 212t =S 68,132 68,132 0
OXG A ABZAL /&2 S
68,132,000 68,132
= 34,066
Al 17,033
- 17,033
=)t X MEIA 104,680 108,308 A3,628
= 52,340
Al 26,170
- 26,170
NS At S A SHAAMEIA 104,680 108,308 A\3,628
= 52,340
Al 26,170
T 26,170
101 @124H| 52,689 51,310 1,379
= 26,344
Al 13,172
- 13,173
M ORNZZ2NSE S 52,689 51,310 1,379
OsSgAIY 2=l el2it]
2,011,080 2H* 132 52,289
= 26,144
Al 13,072
- 13,073
O atg At TSI 50,0002 *2& 100
= 50
Al 25
- 25
OsgAY gl W0
150,000 x2&H 300
= 150
Al 75
- 75
201 er23| 7,460 8,148 2688
= 3,730
Al 1,865
- 1,865
01 At2t2lt] 3,780 3,268 512
Oggt=3=H| 3,780




2A:

ALE

HE: FUHASA MHIA W2
212
=20t3

=Rl SIS AXIE A A (SH &)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
—SHAY 2EH 3,000,000& 3,000
= 1,500
Al 750
- 750
—39XEd = 50,000 +6E 300
= 150
Al 75
- 75
—SeAY 012 DR
240,000 x2&H 480
= 240
Al 120
- 120
2 52484l 330 330 0
O NcE olE2s8=
55,0002 64 330
= 165
Al 82
T 83
03 A= I 3,350 4,550 1,200
OSSAIY A=Y 3,350
—sgus A= 150,000 #72] 1,050
= 525
Al 263
T 262
—=dus E= 2,000,000& %12 2,000
= 1,000
Al 500
- 500
—= AL 28| 100,000 *32] 300
= 150
Al 75
- 75
301 LeEN= 18,647 19,750 1,108
= 9,324
Al 4,662
- 4,661
11 HAIMHIXIZE = 150 150 0
Oz 228 23 50,0002 #32] 150
= 75
Al 38
- 37
14 IIEt2 83 18,497 19,600 1,103




2A:

21
Ha: =01
2
—/

el IS XNE MY A EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OsaNcd gs=+¢ 18,497,000& 18,497
= 9,249
Al 4,624
- 4,624
307 lztol & 25,884 29,100 A3,216
= 12,942
Al 6.471
- 6.471
01 22X 2| 25,884 29,100 A3,216
Os¢2xM 7 13,084,000 13,084
= 6,542
Al 3,271
- 3,271
O=dgs(ds)2s 7Y
20,0002 »6407HK 12,800
= 6,400
Al 3,200
- 3,200
SHEAE eledate] 4,800 4,900 A100
= 2,400
Al 1,200
- 1,200
slg 2o g2el MY XNHMEE 2,860 2,940 280
= 1,430
Al 715
- 715
201 fet= 3| 2,860 2,940 N80
= 1,430
Al 715
- 715
01 At2teltl 2,860 2,940 A80
OttdZe 85 d=2u=H|
2,860,000& %1 2,860
= 1,430
Al 715
- 715
ANSEAL 25 2HAY 2= & ESAEY 1,940 1,960 A0
= 970
Al 485
- 485
201 Ler23| 1,940 1,960 A0
= 970
Al 485
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SH: HAEAD
g FUAHLSA MHIA WS
Chol: QHYEE Ol Rt
RN - I BRA(E) - HRA - BES of v A
- 485
01 AFS2t2ltl 1,940 1,960
OXS2AHAIY At = 25 W)
=H| 1,940,000& x1H 1,940
= 970
Al 485
- 485
S A0 2 26,750 26,412
= 21,400
Al 2,675
- 2,675
Slexstad At dEtF A K& 21,500 21,350
= 17,200
Al 2,150
7 2,150
307 212t01d 21,500 21,350
= 17,200
Al 2,150
- 2,150
05 2ItRIE = 21,500 21,350
O2deg80=ad Xt S|
21,500,000 21,500
= 17,200
Al 2,150
- 2,150
SR0F LEHH LA XA 3,100 2,962
= 2,480
Al 310
- 310
307 212t01& 3,100 2,962
= 2,480
Al 310
T 310
01 22 +=H| 3,100 2,962
OLZZ0 2alots =tadl KA
3,100,000 3,100
= 2,480
Al 310
T 310
S22 0rsSAN HAATHIE XA (ZK0H 1,550 1,500
= 1,240
Al 155
- 155
307 212+01™ 1,550 1,500




I

SH: AYED
HE: FOIAAST MHIA KT
ol S EEE 2 EER
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 1,240
Al 155
- 155
05 git?(& = 1,550 1,500 50
ORIGHIDIRH A RABAX A
1,550,000 1,550
= 1,240
Al 155
- 155
ez A A2 AIE 23| 600 600 0
= 480
Al 60
- 60
201 fer=2 3| 600 600 0
= 480
Al 60
- 60
01 AtR2telHl 600 600 0
O2ggAt 22288 ot S S2HI
600,000 600
= 480
Al 60
- 60
A2l S /AR 161,887 149,004 2,883
= 75,944
Al 37,972
- 37,971
gEAd2el 151,887 149,004 2,883
= 75,944
Al 37,972
T 37,971
101 @124H| 151,649 148,758 2,891
= 75,825
Al 37,912
- 37,912
03 SRA(FIH )22 U2+ 99,360 97,423 1,937
Os2H2Z2X 99,360
—Jl=2(ESH)
2,041,520 x3H 123 73,495
= 36,748
Al 18,374
- 18,373
— G2 aH| 10,5582 +BAI2H<3H 9 2,281
= 1,140
— 13 —




K- B3 S9(B1) - MRAY - BAS 0l o A
Al 570
= 571
— NI RRAg
10,558&*1.5+30A| 2++3H + 12& 17,104
= 8,552
Al 4,276
- 4,276
—H A=Al 140,000 *3H 122 5,040
= 2,520
Al 1,260
- 1,260
—tE 1,440
- B At 40,0003 x2H *12& 960
= 480
Al 240
- 240
- MAHSHIS 20,0003 «2Z =123 480
= 240
Al 120
- 120
M4 II2H2EXNSE S 52,289 51,335 954
Ot 2 2e|AIY 213 ol21Y|
2,011,080& x2ZH »13& 52,289
= 26,145
Al 13,072
- 13,072
307 QIZ2t0IA 238 246 A8
= 119
Al 60
- 59
01 2L H=H| 238 246 A8
SUEHL2ACIAIY A4EF L 228 A2
=4l s 238,000& 238
= 119
Al 60
- 59
g2 MHIA 29,500 28,900 600
SEEAAMYE 29 29,500 28,900 600
101 214d| 200 100 100
M4 IIZH22NSES 200 100 100
OYZHL22|ACIE T|=H]|
50,0002 x2ZH *23| 200
201 LEt2AH| 9,300 8,800 500
01 A22teld| 2,000 1,700 300
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FA ABSL
T FLIAVEH HHIA WD
el gEAdAeIMblA (CHol: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Oz Ard 23| 1,700
—dE244 23| 100,000 12 1,200
—Y2AL2CIAMY 23|
500,000& 500
OZRA2Z A (L2A T2l A L=
50,0002 x3E #2353 300
2 5234l 5,700 3,900 1,800
OZZ22ZHAl 4,200
—dEALAINSE 015823
40,0003 #5CH+ 123 2,400
— LAY ACIANEE HEIPC SHR=
30,000 x50 * 122 1,800
OXtgrset] 1,500
—IIsSR 1,500,000& 1,500
03 &A=& 1,600 3,200 1,600
OMJIgetkt & ua 23|
200,000 +82] 1,600
307 glztol & 20,000 20,000
01 22X TS| 20,000 20,000
O o3 E A=z a2
=t 20,000,000& 20,000
Hegds2el 3,162,900 4,684,519 1,521,619
= 1,445,580
Al 722,790
T 994,530
HYEESSSHE =4 27,240 26,780 460
= 13,620
Al 6,810
- 6.810
101 @124H| 27,240 26,780 460
= 13,620
Al 6.810
- 6,810
M IRMZZREE 27,240 26,780 460
OugEES=Qw ol
2,095,380« 1813 27,240
= 13,620
Al 6.810
- 6,810
MU S ESAAl 1,963,920 2,162,577 A198,657
= 981,960
Al 490,980
- 490,980
307 @12t01 & 1,963,920 2,162,577 A198,657




FA ABSL
M ZOIAUEA MHIA R
Rl HgEs2el EER=E)
M- B SRASH) - HRAR - B2 of v e HIDE2
= 981,960
Al 490,980
- 490,980
01 22 7ZH| 1,963,920 2,162,577 198,657
Odol HgES 659,396,000 659,39%
= 329,698
Al 164,849
- 164,849
OO0el0l HEES 1,021,160,000& 1,021,160
= 510,580
Al 255,290
- 255,290
OBgl2tg F=41ZE K&l
2,660,000 2,660
= 1,330
Al 665
- 665
OO0l2l0ld, FAHY & =St =28 ol
83 215,228,000 215,228
= 107,614
Al 53,807
- 53,807
OZAIR QST HLES
10,120,000 10,120
= 5,060
Al 2,530
- 2,530
OFstd(18td) AZ2AUT LES
30,568,000 30,568
= 15,284
Al 7,642
- 7,642
OHV 11Xt S22 A HEES
4,292,000 4,292
= 2,146
Al 1,073
- 1,073
OHV DIESI HZES 20,496,000 20,49%6
= 10,248
Al 5,124
- 5,124
SEA MYES NFAS 230,480 70,000 160,480
307 glztol & 230,480 70,000 160,480
01 22X+ &H| 230,480 70,000 160,480




AUZZE
FOIHYEE MHIA HZ
Ol E S2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OUAEE WUEBA
94,4203%2,441Y 230,480
HgEsd 23 (XHH) 41,260 37,290 3,970
201 er=23y| 8,390 5,390 3,000
01 AtR2t2|HI 7,550 4,550 3,000
OHgEs 882 & 24| 7,550
—MgESY 23 480,000 480
—MLEE 22 AUE N
5,000,000& 5,000
—HeES 28 5 A
90,0002 238 2,070
02 S3=gHl 840 840 0
ongEsd sHE 840
—HeESH O1sdse=s
50,000~ 1CH* 122 600
—OIYREA LTS 2
10,0002 <20~ 12 240
307 @120l & 32,870 31,900 970
01 22 +=H| 32,870 31,900 970
OHYEEAL=E & 225 &
2,000,000 2,000
Ogold EdSH| 30,8702 %1,000& 30,870
)EELHQ TS AA(RAEAZI 2 HILES Al 900,000 2,387,872 N 1,487,872
= 450,000
Al 225,000
T 225,000
307 elztol & 900,000 2,387,872 1,487,872
= 450,000
Al 225,000
- 225,000
01 22X 2| 900,000 2,387,872 N1,487,872
OZZ2LHY KL TS AA(ASAZI12 oEY
T AIEH]) 900,000,000 900,000
= 450,000
Al 225,000
- 225,000
SXEHAY 1,000 36,573 AN34,573
DAEAA 2E (XHA) 1,000 800 200
201 er23| 1,000 800 200
01 At2teltl 1,000 800 200
OZ2X=EAMNY 23 1,000,000 1,000
oY 2 566,948 673,994 107,046
= 161,834
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SH: AYED
HE: FOIAAST AHIA KT
Rl ol EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
Al 222,352
- 182,762
S|HAEER 2= KA 121,668 121,668 0
= 60,834
Al 30,417
- 30,417
307 QIZ2t01 A 121,668 121,668 0
= 60,834
Al 30,417
- 30,417
05 QIZtRIEr S 121,668 121,668 0
Os|H&E &k 2ol=zdl X&
121,668,000& 121,668
= 60,834
Al 30,417
- 30,417
SR Ql2H] & ot 2| XIJ(XHEAY) 187,180 296,326 A109, 146
Al 140,385
- 46,795
307 212+01 A 187,180 296,326 A109, 146
Al 140,385
- 46,795
01 2¥¢ 3P =H| 187,180 296,326 A109,146
Ogatht olzdl XI& 179,684,000& 179,684
Al 134,763
- 44,921
Ot 22| At 7,49%6,000& 7,4%
Al 5,622
- 1,874
=2ort2e| XIRA X2 202,000 202,000 0
= 101,000
Al 50,500
- 50,500
201 B2 AY| 6,000 0 6,000
= 3,000
Al 1,500
- 1,500
01 At 22|l 6,000 0 6,000
OgHTAHOHY X EE 6,000,000& 6,000
= 3,000
Al 1,500
- 1,500
307 gI2tol ™ 196,000 196,000 0




SH: AYED
HE: FOIAAST AHIA KT
Rl ol EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 98,000
Al 49,000
- 49,000
05 git?(& = 196,000 196,000 0
Ooga &l 49,000,000& *42] 196,000
= 98,000
Al 49,000
- 49,000
2 & SdA AME 54,000 54,000
201 et 3| 4,000 4,000
01 At22t2l] 4,000 4,000
OSdA At 22| 1,000,000 1,000
O2dA AEEE & =578l
2,500&+1,200& 3,000
307 elzto| & 50,000 50,000
01 22X +&H| 50,000 50,000
OSLHAA & =SLZAH
50,000,000& 50,000
22t Jrg el X3 2,100 0 2,100
Al 1,050
- 1,050
307 glztol & 2,100 0 2,100
Al 1,050
T 1,050
01 22X +&H| 2,100 0 2,100
Ogatat Jrgedl XI&
700,000 *32 2,100
Al 1,050
- 1,050
XIOHZ2I M A = 664,235 714,222 A\49,987
= 288,251
Al 91,472
- 284,512
oHetayME 29 367,918 408,004 50,086
= 286,334
Al 35,792
- 35,792
101 @124H| 225,523 217,874 7,649
= 180,419
Al 22,552
T 22,552
02 JIEtM = 225,523 217,874 7,649
OXIOH & EiE] 21 21H| 225,523




SM: ALEXY
HE: FOIAUST MHIA KT
&2l XIH22IMA 2= CEEREE
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
—Jl== 2,152,580 «6F « 12 154,986
= 123,990
Al 15,498
- 15,498
—ds 283, 2502 «6H < 122 20,3%
= 16,314
Al 2,040
- 2,040
—EE 120,000& x6H 122 8,640
= 6,912
Al 864
- 864
—EAZAHI 140,002 x6E 123 10,080
= 8,064
Al 1,008
=) 1,008
—AIZHel 4
9, 160& *20AI 26+ 123 13,191
= 10,553
Al 1,319
=) 1,319
— b2 A
2,152,580 «84%+86%*1/30%1/7x35 Al 216 1,55
= 1,246
Al 155
=) 155
—Saxosg
2,152,580 *35/40+84%+5%+6H + 122 5,6%
= 4,556
Al 570
- 570
—e &8st 50,0002 #35/40+6H « 122 3,150
= 2,520
Al 315
- 315
—Hl&Z2RsE 65,0003 6 128 4,680
= 3,744
Al 468
- 468
—o2nsg
50,0009 #35/40+6H 122 3,150
= 2,520
Al 315
T 315




FA ABSL
M FOIAUEA MHIA R
el X2l A 2= (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 58,300 93,965 A35,665
= 46,640
Al 5,830
- 5,830
01 At22telt] 29,000 61,665 A\32,665
OHIE 29 Ye=gy)
430,000 123 5,160
= 4,128
Al 516
= 516
O21E3 S METYY)
1,000,000 #23 2,000
= 1,600
Al 200
- 200
Odle )| s dE=
400,000 12& 4,800
= 3,840
Al 480
2 480
OXINAME T2 SHDUS 7|
5,000,000& 5,000
= 4,000
Al 500
= 500
O ABIBOIN B4 S
70,0002 x6 2 *23] 840
= 672
Al 84
- 84
OB2F20 D|HIXE
100,000 x2&H 200
= 160
Al 20
- 20
(O: | I=eIEAE= =] 1,000,000& 1,000
= 800
Al 100
- 100
OXIHtAHIE 2| 10,000,000 10,000
= 8,000
Al 1,000
- 1,000
02 S3=gl 7,000 7,000 0
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SH: AYED
g FUAHLSA MHIA WS
el X2l A 2= (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OXIHQrAMIE] XASTY X PEE
150,000& * 12 1,800
= 1,440
Al 180
- 180
OXIOfetaHlE Stz S
400,000 12& 4,800
= 3,840
Al 480
- 480
ORIt dliE] SHOIX FAl2teldl
400,000 400
= 320
Al 40
- 40
03 A= SHI 22,300 25,300 A3,000
OXIfQHAIMIE] T2 29 LA
70,0002 %2902 20,300
= 16,240
Al 2,030
- 2,030
OXH==F2t YAL S 2,000,000& 2,000
= 1,600
Al 200
- 200
202 048l 4,320 4,320 0
= 3,456
Al 432
- 432
01 =LHAHI 4,320 4,320 0
OXIBNAHA B SAIA 2H I
10,0002 +63|x6H « 123 4,320
= 3,456
Al 432
T 432
204 AR A 9,765 9,13% 630
= 7,811
Al 9r7
T ar7
02 Aa2xH| 9,765 9,13 630
OAIRIEERIZDIIH 2SS E 2|
155,000 x35/40+6 9 » 123 9,765
= 7,811
Al 9r7
T ar7




SH: AYED
g FUAHLSA MHIA WS
el X2l A 2= (SH9 H2)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
301 LtENZ 22,010 22,010 0
= 17,608
Al 2,201
- 2,201
11 HAIMHIXI RS 2,160 2,160 0
OXSAt2EaM 22 80,0002 22 160
= 128
Al 16
- 16
OXIOfetadE 22 5 24
2,000,000& 2,000
= 1,600
Al 200
- 200
14 JIEt2 8= 19,850 19,850 0
O oA =& 343,000 x1H50%= 17,150
= 13,720
Al 1,715
= 1,715
OzzE2A BEY)
200,000 «1H*12& 2,400
= 1,920
Al 240
- 240
OXINZSBFAH ASIZAIZDA Za]
100,000 #3214 300
= 240
Al 30
- 30
307 212told 38,000 60,700 A22,700
= 30,400
Al 3,800
- 3,800
01 == 38,000 60,700 A22,700
O2dg4l2E S =357l
2,500,000 2,500
= 2,000
Al 250
- 250
OXIHek 2525 FH
15,0002 x100E 123 18,000
= 14,400
Al 1,800
- 1,800
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SH: AYED
M FOIAUEA MHIA R
Sl XIOHZRIMA 7S (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OXEE A 2ACIAYE 2SS 2|
10,0002 x 100 123 12,000
= 9,600
Al 1,200
- 1,200
OXIHZBE B Al K& 110,000 50 5,500
= 4,400
Al 550
- 550
XoHXIZ2teld] X (HEAY) 73,920 73,920 0
Al 55,440
- 18,480
307 el2to| & 73,920 73,920 0
Al 55,440
- 18,480
05 212+ =S 73,920 73,920 0
OXIOiXIZ2eldl XI& 73,920,000 73,920
Al 55,440
- 18,480
X0hcel S5=A 2,397 2,298 N9
= 1,917
Al 240
- 240
201 =3 2,397 2,298 N9
= 1,917
Al 240
- 240
01 AtR2te|HI 2,397 2,298 N9
OXllss=HAE 2UHHIE & 82 S
2,397,000& 2,397
= 1,917
Al 240
- 240
Xo=2AESHyH 29 X2 (KHAl) 230,000 230,000 0
307 @I2t01 & 230,000 230,000
05 2IR”IRIE = 230,000 230,000
OXli=2EsdH 24 X
230,000,000 230,000
FAEAHAY X 1,253,472 1,087,600 165,872
= 567,561
Al 306,130
- 379,781
JI=EAALYSIHE X2 51,100 64,400 A13,300
= 25,550
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SH: AYED
HE: FOIAAST AHIA KT
Gl HAZHAY XA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 12,775
T 12,775
307 lztol & 51,100 64,400 A13,300
= 25,550
Al 12,775
- 12,775
05 2ItRIE = 51,100 64,400 213,300
OJI=8aAZ=AHEH X
51,100,000 51,100
= 25,550
Al 12,775
- 12,775
JUAL SN =S 786,240 615,132 171,108
= 393,120
Al 196,560
- 196,560
307 212+01& 786,240 615,132 171,108
= 393,120
Al 196,560
- 196,560
05 212+ =S 786,240 615,132 171,108
OFMAASTME 012AstE
786,240,000 786,240
= 393,120
Al 196,560
- 196,560
SEFUALSIAEY 128,400 111,400 17,000
= 64,200
Al 32,100
- 32,100
307 gl2tol & 128,400 111,400 17,000
= 64,200
Al 32,100
- 32,100
05 2I2tRIE S 128,400 111,400 17,000
OSSIAALSIAI 128,400,000& 128,400
= 64,200
Al 32,100
T 32,100
JIZZAAYSAHE SAHAL SAE+ & A28 8H| 8,550 4,350 4,200
Al 8,550
307 212+01& 8,550 4,350 4,200
Al 8,550
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SH: AYED
HE: FOIAAST AHIA KT
Gl HAZHAY XA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
05 2ItRIE = 8,550 4,350 4,200
O =EAASFANHE SALL SXE =
5,950,000& 5,950
Al 5,950
O =ELALSXHE SAAL Se22d
& 2,600,000& 2,600
Al 2,600
II=EAAUSAHE S S| 13,800 10,200 3,600
Al 13,800
307 @I2to| & 13,800 10,200 3,600
Al 13,800
05 21t =S 13,800 10,200 3,600
O =EAASFAME SALAL SEH|
13,800,000 13,800
Al 13,800
NS ROl At 40,720 40,720 0
= 20,360
Al 10,180
- 10,180
307 glztol & 40,720 40,720 0
= 20,360
Al 10,180
- 10,180
05 2IR”IRIE = 40,720 40,720 0
OXI S A2 Ml ZALS 40,720,000 40,720
= 20,360
Al 10,180
- 10,180
JIZZAYSKNEE A MZAIS XIS 72,190 70,976 1,214
= 36,095
Al 18,047
- 18,048
307 @120l & 72,190 70,976 1,214
= 36,095
Al 18,047
- 18,048
05 2I2tRIE =S 72,190 70,976 1,214
OJIZRaUHTAI = &S|
72,190,000 72,190
= 36,095
Al 18,047
- 18,048
SaEEN X8 N2 AL 8,972 8,972 0
= 4,486




SH: AYED
HE: FOIAAST AHIA KT
Gl HAZHAY XA (SH9 H2)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
Al 2,243
T 2,243
307 21201 & 8,972 8,972 0
- 4,485
Al 2,243
- 2,243
01 22X 2| 8,972 8,972 0
Odaldetkt XIzHl X3 At
8,972,000& 8,972
= 4,486
Al 2,243
- 2,243
Aat2=s X2A 47,500 23,750 23,750
= 23,750
Al 11,875
- 11,875
307 212+01& 47,500 23,750 23,750
= 23,750
Al 11,875
- 11,875
05 212+ =S 47,500 23,750 23,750
OXed == AAE MHIA XE A
47,500,000 47,500
= 23,750
Al 11,875
- 11,875
SO EHAS 96,000 137,700 A41,700
201 et 3| 1,400 1,400 0
01 At2t2l] 1,400 1,400 0
OFUALYA(MAARE EA =G
70,0002 102 #2323 1,400
301 LEtE NS 300 300
11 dALEEIXIE S 300 300
OduAg A3 28 300,000 300
307 gl2to| & 94,300 136,000 A41,700
05 212t =S 94,300 136,000 A41,700
OUBES 2T E A 60,000,000& 60,000
OLISLISHE L= 34,300,000& 34,300
AASEAH 2 HFXJ 140,226 16,386 123,840
A2 22 X2 140,226 16,386 123,840
101 @124H| 85,551 0 85,551
M ORIMZZ2NSE S 85,551 0 85,551
OJIZHZ22 X U EE 37,317
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